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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 000 ~ 333 42.39 | #ns | 0oo ~ 333|224 12.01 st 1.00 | 6.00 ~ 5.00 42.39 | =hLS | 5.00 ~ 56.00 | 2.24 12.01
2 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ b5.44 67.84 | FnLSY | 0.00 ~ 544 | 1.83 979 st 1.00 | .00 ~ 6.05 67.84 | ThS | 5,00 ~ 6.05| 1.83 979
3 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 4.07 51.02 | =N | 000 ~ 407 2.11 11.32 st 1.00 | 6.00 ~ 5.33 51.02 | =hS | 6,00 ~ 5633 2.11 11.32
4 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.14 77.07 | FnLSY | 000 ~ 0.00| 1.67 892 st 1.00 | .00 ~ 7.19 77.07 | FhSY | .00 ~ 7.19| 1.67 8.92
5 100kN/mM%#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.28 78.93 | EnLS | 000 ~ 628 1.85 9.89 st 1.00 | .00 ~ 749 7893 | ThLSY | 6.00 ~ 749 | 1.85 9.89
P 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 4.71 5866 | =nRS | 000 ~ 4.71| 1.82 973 st 1.00 | 5.00 ~ 5.00 58.66 | TN | 5.00 ~ 56.00| 1.82 978
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zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
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zhst ~ Fhst ~ Fhst ~ zhLst ~
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U3
H
M|



